Dror Bar-Natan: Academic Pensieve: Projects: FullDoPeGDO: WorstCCFAnalysis.nb 2021-08-17 11:53:36

@an inf-1= SetDirectory["C:\\drorbn\\AcademicPensieve\\Projects\\FullDoPeGDO"];
<< Engine.m

ninf- 1= log = ReadList ["CCFLog.m"]

{{0~031: Fag(ig7219] FO$ i$7210) * FAg(j$7219] FO$(4$7219) + FDg 1472107 FBg[137219) * +
2 £$7219 [1$7219] Feprre mg[imlﬂ f$7219 [A$7219]2 £$721%147210(2,6,0) [H$7219]
+
1- 1-4 b2y, F$7219%1572100,0,2) [A$7219] F$7219167210(2,0,01 [1$7219]

(Alt) Out[+]=

4b§$7219 FW§[J-57219J 97219147219 (0,0,2) [1$7219] F$7219%147219(2,0,0) [A$7219] F$7219147219(2,0,0) [1$7219] }
P

1-4 bi$7219 $721%14721910,0,21 [1$7219] F$7219%147210(2,0,0 [11$7219]

, {89.094, } }
large output show less show more show all set size limit...

anin-1= e = log[-1, 2]

3 3 $13555 -31$13555 1 | bigy3sss+b 3 3 1$13555
3 big13sss Bigazsss _ Se [ ) big13555 Biga3sss +
4 4 3 4 4
2 <bi$13555+b$[1513555]) <bi$13555+b$[j513555]) Fg [1313555] 2 (bi$13555+b$ ]) (bi$13555+b ) ﬂi[iMBSSS]
(Alt) Out[ - ]= 2 o135 (biszasss by ssassss] ) 2 | | 2$13555 11$13555 A% bigy3s55 b%[isussﬂ B?ﬁ:::zmmssss
+
(bisazsss+bs[igaasss) ) (Disaasss+Da[ssassss] ) * Fs[isazsss] Fs|jsassss]
large output show less show more show all set size limit...
aninf-1= Timing[u = 12U[e]]
3 3$13555
{2 17188 3 big13555 Bigazsss .
. ) 4 4
2 (bislasss‘fbs[islssss] ) (bi$13555*b$[j$13555] ) 7@[313555]

3 1$13555+3 u$13555 2 1$13555 2 1$13555

2 2
22$13555 i$13555 1* bigizsss bs[isusss} Bisizsss $[1$13555] ~$[3$13555] }

(Alt) Out[«]=

4 2
(bisassss +by[iga3sss) ) * (Disazsss+by[jeazsss) ) * s [1sa3sss] As[jsa3s55]

large output show less show more show all set size limit...
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aninf-1= Timing[1 = U21[e]]

~2U813555 1 big3sss -2 0 3513555 pyd -2 u$13555 1 bygy355- _2a b
e 1$13555 € 1$13555
0.5625, ; : - - -
( i$13555+b$p$1ssssj) <bi$13555+b${j$13555j) (b1$13555+b5[1313555]) (bi$13555+b
2 2
2e A$13555 1$13555 1 bg 1513555 b 1515555)

+ _

(Brsssss o qurmm ) | )
(Alt) Out]-]= 1$13555
-3 1u$13555 h by 2813555 1 (b b |-3a
e R s J2ostmen) ) g13665 813555 12 b is13555] bj [j913555] }
4 2
(b1$13555+b$[i$13555] ) <bi$13555+b$[j313555] )
large output show less show more show all set size limit...

«ninf-1= LeafCount /@ {e, 1, u}
i ou-]= {281823, 293793, 213445}

n-1= LeafCountee

ouf-]- 281823

n-1= LeafCount@Factor[e]
outf-]- 348 001

i in[- = Timing@LeafCount [fu

o ou-]= {8.29688, 57332}

Factor[u]]

i inf- 1= Timing@LeafCount [fl = Factor[1]]
o ou-]= {196.297, 364508}

nf-}= Timing@LeafCount [fe = Factor[e]]
our-= {87.0625, 348001}

nf-}= Timing@LeafCount [re

our - {222.578, 353904}

inf-}= Timing@LeafCount [tu = Together[u]]
ou-= {3.73438, 57331}

nf-}= Timing@LeafCount [te = Together[e]]
our-= {38.6875, 348001}

nf-;= Timing@LeafCount [rel = ExpandAll@Together[e]]
our-- {237.156, 1970175}
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ExpandNumerator @ExpandDenominator@Together[e]]
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nf-1= rel
14 2$13555 £ bygy3ss5+17 1$13555 7 bigizsss+14 b, | +17 u$13555 by 3533555
= e
4 31$13555 3
1$13555 71 big13555 Bigrasss  Hg ig13555) ]/
17 A$13555 1 bigasss +17 u$13555 1 Digazsss +17 A$13555 1 by 1513555 +17 13555 7 by [jga555] 8 2
e 1$13555 S [i$13555]
Out[~]=
3 4 4 3 3
Ag19$13555] + +te bs i313555) D3 j813555) A% 113555 Fg[j313555] )] +
8 ﬂ:{jmssssj
o _
G blg3sss A mz[jslzsss} * *
large output show less show more show all set size limit...
In[-]= e
(7 6 &> 1$13555 1 (bigssss +Dg[ss13555) ) * +h (2 A$13555 bygrzsss+ +34$13555 b )
4 34$13555 3 3
p$13555 71 big3sss Bigiasss  Agrigi3sss] + +4 7 [$13555) )/
32813555 1 (bigazsss g [ssa3sss] ) + +71 (2 A$13555 bygyssss+ + +3 1$13555 b 3 3
Outf+]= (‘E ( big13555 A [ig13555)
3 3 + +h 4 4 3 3
Ag 133135557 T +e ( ) bg ig13555, D A AAg [§$13555) ]
large output show less show more show all set size limit...
n-j= te
e (7 6 <e3 1$13555 h (b1513555+b$[j$13555] )+ +1 (2 2$13555 bjgy3555+ + )
4 31$13555 3 3
1$13555 1 Dig13555 Bigrasss  Ag(igiasss) + 4 A4 1§$13555] ) )/
outf+J=
4 4 3 3
(big13s55 + bgig135557) <b1$13555 + bg [{$13555) ) A 1i¢13555] FAg[j$13555] )
large output show less show more show all set size limit...
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n-= fe
e (7 6 <e3 1$13555 h (b1513555+b$[j$13555] )+ +1 (2 2$13555 bjgy3555+ + )
a 3 $13555 _3 3
1$13555 bi$13555 Bi$13555 Agrig13555] + +4 A [j$13555) ) )/
Outf]=
4 4 3 3
(big13s55 + bgig135557) <b1$13555 + bg [{$13555) ) Ag1i¢13555] FAg[j$13555] )
large output show less show more show all set size limit...

m-1= tu
out/-]= tu
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